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1|Starcevi/Lief 88 20/ 20| 20 15[ 13] 3
2[LUTS 85 17| 17|17 7| 17| 10| 3
3[Pricini 83[ 20| 11| 15| 15| 13 ol 2
4| AlkSni 57( 13| 15[ 5/ 6| 3| 151 4
5(Dubovski 57 15| 4| 6]17 8 7] 3
6[Vernieki 52 1 1| 2 11 20| 17| 4
7|Kalnini 47( 7] 1{10]13 [ 11 5/ 2
g[Karli 41f 9of 8| 9|8 7 2
9|Kraukli 34| 11 5[13[ 3] 1 1l 2
10| Tuisk 33 1 7] 10l 9 6] 2
11|Grinfeldi 32 10 2 20 3
12| Vitoli 30 10| 11 9 2
13|Kaljurand 30, 8 7 1f 1] 10 3] 2
14|Robeznieki 27( 3] 3| 8 1| 1f 11] 3
15|Sietnieki 23 13 4 4 2| 3
16[TuCi 21| 2 1l 3[ 2| 5 8 2
17|Ross 20 9 5] 6 2
18|Bluka 12 6] 1| 1|1 2 1 2
19|Blumbergi 10 6| 4 2
20|Seglenieki gl 4 1 1f 1] 1 2
21|Zvejnieki 71 5] 1 1 2
22[Ristlaan 6[ 1 i 1] 1] 1 1| 2
23|Knope 6] 1 il 11 1f 1 1l 2
24|Vanagi 6] 1 1] 11 1 1l 2
25|ZisBergi 4 1] 1f 1 1 2
26| Egl1Si 4 4 2
27|\\Wasner 2 1 1 2
28|Miggur 2 1l 1 2
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